BELTRACTLITIILEEES Ba—X

2015/11/09 16:52

OVRE: BEERIIWIXKE
BEERAH: ¥Rk 2711 A9H(A)
fEfO—X: OUT 1IN IBRLRE A% : ~ybNIE
BHAE: FRUT BEIBR: 1:/\0T SN
HDCPLRR: SBi%:40 %&i:40 =7 :40 2:4F i B 83 A
vk PA % 12 A
fEL7R—IL: OUT ODR@DB®O Py oA
IN __ q0dDd3ddHdandn AL 95 A
(=L iva BnES OUT IN GROSS| HDCP | NET £33
Z HIT E 41 45 86 15.6 704 LtHAHE
EEHAX —H 46 39 85 13.2 71.8 LfiAHE
3 &AF B= 50 45 95 228 72.2 LHAH
4 ISk KB 39 43 82 9.6 72.4
5 wEH EH 46 48 94 21.6 724 LiAE
6 &KX VAH# 50 49 99 26.4 72.6
7 FTH E 37 37 74 1.2 72.8 LHEAE /ARTOE
8 RBi HEA& 48 48 96 228 73.2
9 Z=FH Tkt 42 47 89 15.6 73.4
10 #&0O EfT 46 42 88 14.4 736 LfiAH
11 KX — 45 43 88 14.4 73.6
12 & a8 53 53 106 324 73.6
13 &K & 40 47 87 13.2 73.8
14 ER HE 42 43 85 10.8 74.2
15 g 43 42 85 10.8 74.2
16 ¥HE #H 45 40 85 10.8 74.2
17 K8 &= 46 45 91 16.8 74.2
18 ¥WE HB 50 47 97 228 74.2
19 fEE K0 48 49 97 228 74.2
20 A# Esh 51 52 103 288 742 WUE
21 PrH FEig 43 41 84 9.6 74.4
22 A EFH 54 42 96 21.6 74.4
23 {E&K BEIE 42 41 83 8.4 74.6
24 Jlldm ZFE 41 42 83 8.4 74.6
25 HE H 47 48 95 20.4 74.6
26 Hf HE 49 51 100 252 74.8
271 {kk ®I— 41 46 87 12.0 75.0
28 il EX 44 43 87 12.0 75.0
29 UHE 5 48 51 99 240 75.0
30 Kx BEH 52 58 110 348 75.2 ®UH
31 YEiI IEF 56 54 110 3438 75.2
32 ¥FH HE 46 39 85 9.6 75.4
33 Nk sh=E 50 47 97 21.6 75.4
34 H{EE 1§ 50 47 97 21.6 75.4
35 HhiE B 44 46 90 14.4 75.6
36 &l =3 51 51 102 264 75.6
37 BK & 48 47 95 19.2 75.8
38 #H*H X 46 48 94 18.0 76.0
39 =AR BE 48 46 94 18.0 76.0
40 /R X 43 51 94 18.0 760 WUE
41 BE AB 48 46 94 18.0 76.0
42 AR #A 49 45 94 18.0 76.0
43 {HE =g 54 52 106 = 30.0 76.0
44 KF¥ =—H 60 56 116  40.0 76.0
45 IBX FH 48 51 99 228 76.2
46 IR SRk 45 41 86 9.6 76.4
47 BR BUA 50 42 92 15.6 76.4
48 TN BB 48 50 98 21.6 76.4
49 rhll #&F 41 44 85 8.4 76.6
50 WUAEKR FEHF 50 47 97 20.4 76.6 RUHE
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51 RH EF 49 48 97 20.4 76.6

52 Il FIEB 50 53 103 264 76.6

53 XK¥H K= 47 49 96 19.2 76.8

54 JIIB A& 57 51 108  31.2 76.8

55 I\Zx AB 47 48 95 18.0 77.0

56 ™M FRE 48 46 94 16.8 71.2

57 HRER 41 46 87 9.6 77.4

58 iH A 52 53 105 276 77.4

59 & X— 46 52 98 20.4 71.6

60 FH FE 50 48 98 20.4 77.6 ®UH

61 RiF 12 47 44 91 13.2 71.8

62 TR 2 47 44 91 13.2 77.8

63 [ &3 47 44 91 13.2 77.8

64 fEH FxX 53 56 109 312 77.8

65 w/E X 48 48 96 18.0 78.0

66 {PRIE FH 45 51 96 18.0 78.0

67 R EPFF 52 56 108 = 30.0 78.0

68 BX E 56 51 107 2838 78.2

69 #BA ™A 49 50 99 20.4 78.6

70 Hi5 8hTE] 49 56 105  26.4 786 MUE

71 R %= 52 52 104 252 78.8

72 & HlX 54 56 110 312 78.8

73 AR Fx 52 50 102 2238 79.2

74 TR #RiE 47 48 95 15.6 79.4

75 M F® 53 47 100 204 79.6

76 HMEAX BEEX 51 55 106 264 79.6

77 1tk EE 53 53 106 = 26.4 79.6

78 K8 g 48 51 99 19.2 79.8

79 T =5 57 42 99 19.2 79.8

80 ER T 45 46 91 10.8 80.2 MUHE

81 AK# FH 50 46 96 15.6 80.4

82 &EQO F&E 46 49 95 14.4 80.6

83 [RiE I 58 61 119 = 384 80.6

84 PWHH Sih 53 59 112 312 80.8

85 *TH &7 56 56 112 31.2 80.8

86 THH Fi=E 61 51 112 312 80.8

87 ¥H fEX 57 63 120 384 81.6

88 JiliEr {—Hk 61 57 118  36.0 82.0

89 THE EBEA 52 59 111 28.8 82.2

90 #H AX 61 55 116  33.6 824 RUHE

91 JIIZRK BASE 58 53 111 27.6 83.4

92 &R {§— 58 59 117 336 83.4

93 =K R=F 53 56 109 252 83.8

94 fEH E=x 63 53 116 276 884 J-—E—H

95 #EME i 71 66 137 | 400 97.0
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